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3. B
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= 160 MeV

Energy B E of Products
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1640-1480 = 16 MeV
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6. B

One fission = 200 MeV

Power = 200 x 106 x 1.6 x 10-19

= 103J/S

1.5 x 10-19 J = 1eV.

Fission / sec = x

X x 3.2 x 10-11 = 103

x = 0.3125 x 1014

x = 3.125 x 1013 .

196

3

106.110200
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= 3.125 × 1013

7. C

Total energy radiated by star is 1016J/s

energy from one fission is of the order of

106 x 1.6x 10-19J

No of reactions per sec= 1016 x 1013 / 1.6

= 1029 / 1.6

No of deutrons used/sec = 3 x 1029 / 1.6

Time to use 1040 deutrons = 1029 t

t = 1040 /1029  1011

order about 1012 sec

8. C
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Elements with more BE/nucleon is more

stable.

10. B

Two smaller nuclei combining to form a larger

nucleus is called a Fusion reaction.

11. D

(939 + 940 - 1876)

= 3 MeV (Captures)

12. B

)4A(
Mev50A
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

 = 48 MeV

0.96 × 50 MeV = 48 MeV

A = 100

13. B
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15. C
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16. C

900120x5.7)BE( W 
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23. A
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28. C
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32. D

A given Nucleus may decay after t = 0 at

any time

33. A
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34. C
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
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35. B
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36. B

Let sample is x � x  Y
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37. A
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38. E

N = N
0
 (1-e-t)

39. C

No effect of concentration on activity.
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42. B
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43. C
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44. D

13.6 z2= 13.6 x 4 = 54.4

Second electron = 54.4 + 24.6 = 79

45. A

It is difficult to over come attractive forces

46. A

The nucleus of Atom is positively charged So

striking it with +ve proton or  particle would be

relatively difficult

47. C

Photon thermal energy or excess energy is al-

ways liberated in the form of gamma radiation

48. D

Half of total number of nucleus are left after

one half life.


